46—1 K B = £ F
1\ I=CN 5]
T Gt 4 i H s =1 =¥ M = BAT =
(+T)
e ) (4.370 X 3.670 + 2.960 X 2.260) 2 X 2.350 26. 705 m3
26.705 — 3.606 — 0.340 X 0.340 X g X 0.200 X 3
pEEg=S) AL — 1.768 — 0.220 — 4.400 X 0.100 — 0.450 X 0.314 20. 212 m3
X 0.876 — 0.450 X 0.314 X 0.831
FEHHEIE 2.500 X 1.760 4. 400 m2
sy 26. 705 m3
(RRRFERET)
FEpE RC—40 (t=10cm 2.500 X 1.760 4. 400 m2
a7 )—Kh 18N—8—25 2.500 X 1.760 X 0.050 0. 220 m3
a7 Y—h 24N—8—25 R 2.500 X 1.760 X 0.200 = 0.880
o 0.100 X 0.100 X 7 X 1.800 X 4 = 0.226
IR ( 2.500 X 1.760 — 0.363 X 3 ) X 0.200 = 0.662
&EF 0.880 + 0.226 + 0.662 1. 768 m3




T fe Z4 PR B B = ¥ = X (A e
T e BCayv (2.500 + 1.760) X 0.050 X 2 0. 426 m2
PR EER (2.500 4+ 1.760 ) X 0.200 X 2 1. 704
PRI (2,500 + 1.760 ) X 0.200 X 2 1. 704
AF 1.704 4+ 1.704 3. 408 m2
Py B 0.200 X 7 X 1.800 X 4 4. 524 m2
BRA% D10 B i B £k 5 3% 1 0 17. 880 kg
D13 B i B k5 3% 1 0 236. 409 kg
<R —IV T — $600 3. 000 1
#E i 0. 220 m3
BrAn 1.768 m3
(P AR E )
PN 3 VR 1. 000 =




46—1 B ¥ B £ 3
[ERT] (B
T fe 24 g o) " = % & L X1vA 2
(+T)
A +wp 0.31 X 8.369 2. 594 m3
1B A+ 0.13 X 1.000 + 0.13 X 9.200 1.326 m3
1B ikt 0.13 X 8.369 1. 088 m3
HeHHEIE 0.45 X 8.369 3.766 m2
7 sy 2.594 — 1.088 1. 506 m3
(FET)
EHRT VP¢100 0.970 + 9.850 10. 820 m
90" XK (100) 1.000 1
EMERE T EMo200—-ST 1..000 1 ek
fEEVUS 200 0.460 — 0.018 — 0.135 0. 307 m
BERRHEKEEIB T VP¢ 75 3.800 m




46 —2 Kb B = £ F
1\ I=CN 5]
T 4 i H B = BAT =
(+T)
e +w (4.310 X 2.970 + 2.960 X 1.620) /2 X 2.250 19. 795 m3
19.795 — 3.606 — 0.340 X 0.340 X X 0.200 X 3
pEEg=S) AL — 0.206 — 0.315 — 0.158 — 3.150 X 0.100 — 0.450 X 0.314 14. 744 m3
X 0.846 — 0.450 X 0.314 X 0.801
FEHHEIE 2.500 X 1.260 3. 150 m2
sy 19. 795 m3
(RRRFERET)
pr Yy RC—40 (t=10cm . 500 3.150 m2
a7 )— Kk 18N—8—25 . 500 .260 X 0.050 0.158 m3
a7 Y—h 18N—8—40 . 500 .260 — 0.363 X 3 ) X 0.100 0. 206 m3
24N—8—25 . 500 .260 X 0.100 0.315 m3
7 e ¥Bray . 500 .260 ) X 0.050 X 2 0.376 m2
AR . 500 .260 ) X 0.100 X 2 0. 752 m2
BEA . 500 .260 ) X 0.100 X 2 0. 752 m2




T fi 2 P o) 1 = % & L X1vA 2
7330 D13 e %5 [ $k i 3 & 0 30.918 kg
< R—IV T — $600 3. 000 1
A AT 0.158 + 0.206 0. 364 m3
B 0.315 m3
(FLAERRE T)
PN | 125 AL v 1..000 5




46—2 Kb n & £ i
(ELAH)

24 g B & 1 = H = X (A e

e +ab 0.26 X 9.199 2. 392 m3
HE A+ 0.13 X 1.000 + 0.13 X 10.000 1. 430 m3
HE 2%+ 0.13 X 9.199 1.196 m3
A E 0.45 X 9.199 4. 140 m2
B sy 2.392 — 1.196 1.196 m3
HEHEL VU¢100 0.930 + 0.781 + 5.660 + 2.801 10. 172 m

ST (607) 2. 000 1
EHERET #E£Me200—90L 1. 000 1

MEVUG200 0.460 — 0.018 — 0.135 0. 307 m




[A{ET]

46—3 & n =

& S

(80D

T Gt 4 i H s =1 = H = BAfT =
(+T)
e + b (4.623 X 3.263 + 3.300 X 1.940) 2 X 2.205 23. 689 m3
23.680 — 2.950 — (0.196 X 3 + 0.342) X 0.100
pEEg=S) AL — 1.592 — 0.202 — 4.032 X 0.100 — 0.450 X 0.314 18. 229 m3
X 0.872 — 0.450 X 0,238 X 0.900
FEHHEIE 2.800 X 1.440 4.032 m2
sy 23. 689 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.800 X 1.440 4. 032 m2
=/ RN 18N—8—25 2.800 X 1.440 X 0.050 0. 202 m3
oy Y—Fh 24N—8—25 B 2.800 X 1.440 X 0.200 = 0.806
o 0.100 X 0.100 X x X 1.705 X 6 = 0.321
FRAR ( 2.800 X 1.440 — 0.196 X 3 —0.342 ) X 0.150 = 0. 465
&EF 0.806 + 0.321 + 0.465 1.592 m3




T fe Z4 PR B B = H = X (A e
T e BCTayv (2.800 + 1.440) X 0.050 X 2 0. 424 m2
SR EERR (2.800 4+ 1.440 ) X 0.200 X 2 1. 696
PRI (2.800 + 1.440 ) X 0.150 X 2 1. 272
AF 1.696 + 1.272 2.968 m2
] R 2 e ] 0.200 X 7 X 1.705 X 6 6. 428 m2
BRA% D10 B i X £k 5 3% 1 0 110. 627 kg
D13 Fi i X k5 3% 1 0 110. 706 kg
v Rl T — $450 3.000 1
6600 1. 000 1
#E i 0. 202 m3
BeAn 1.592 m3
(P AR E )
N ENYAY! 1. 000 =
Bk R o 7 Ht 1. 000 S




46—3 K w

=

=2

LS

[ERT] (§==F/::p)
T T Z4 PR B B = H = B e
(+T)
HWE fi#E A+ 0.13 X 1.000 + 0.11 X 1.000 0. 240 m3
(FET)
EAnRR L VP¢ 100 0.935 m
VP¢ 30 1. 000 m
90° =/ (30) 1. 000 &
EMRE T HEMe200-ST 1. 000 & gk
MEEVUG 200 0.330 — 0.018 — 0.135 0.177 m




[A{ET]

46—3 K w

A4
CELAH)

T i 4 i H s B = ® = BAfT L
(f=1)

oL ) — REEEL A 13.87 X 0.100 1. 387 m3
(o7 U — MZEEIRT)

N Y 18N—8—40

a7 )—1 t=10cm 9. 840 m2

Sk RC—40 t=10cm 9. 840 m2




[A{ET]

46—4 K n =

& S

(80D

T Gt 4 i H s =1 = H = BAfT =
(+T)
e + b (4.623 X 3.263 + 3.300 X 1.940) 2 X 2.205 23. 689 m3
23.680 — 2.950 — (0.196 X 3 + 0.342) X 0.100
pEEg=S) AL — 1.592 — 0.202 — 4.032 X 0.100 — 0.450 X 0.314 18. 229 m3
X 0.872 — 0.450 X 0,238 X 0.900
FEHHEIE 2.800 X 1.440 4.032 m2
sy 23. 689 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.800 X 1.440 4. 032 m2
=/ RN 18N—8—25 2.800 X 1.440 X 0.050 0. 202 m3
oy Y—Fh 24N—8—25 B 2.800 X 1.440 X 0.200 = 0.806
o 0.100 X 0.100 X x X 1.705 X 6 = 0.321
FRAR ( 2.800 X 1.440 — 0.196 X 3 —0.342 ) X 0.150 = 0. 465
&EF 0.806 + 0.321 + 0.465 1.592 m3




T fe Z4 PR B B = H = X (A e
T e BCTayv (2.800 + 1.440) X 0.050 X 2 0. 424 m2
SR EERR (2.800 4+ 1.440 ) X 0.200 X 2 1. 696
PRI (2.800 + 1.440 ) X 0.150 X 2 1. 272
AF 1.696 + 1.272 2.968 m2
] R 2 e ] 0.200 X 7 X 1.705 X 6 6. 428 m2
BRA% D10 B i X £k 5 3% 1 0 110. 627 kg
D13 Fi i X k5 3% 1 0 110. 706 kg
v Rl T — $450 3.000 1
6600 1. 000 1
#E i 0. 202 m3
BeAn 1.592 m3
(P AR E )
N ENYAY! 1. 000 =
Bk R o 7 Ht 1. 000 S




46 —4 K H = 4
[EET] (Q==R 1))
T i 4 i . s -1 = ® = BAfT L
(+T)
HERE A+ 0.13 X 1.000 + 0.11 X 1.000 0. 240 m3
(BFET)
EMET VP 100 0. 440 m
VP¢ 30 1. 000 m
90° =/)AR (30) 1. 000 &
EMERE T EHo200—-90WY 1.000 1 ek
MEE VUG 200 0.340 — 0.018 — 0.020 — 0.135 0. 167 m




[A{ET]

46—4 K w

A4
CELAH)

T i 4 i H s B = ® = BAfT L
(f=1)

oL ) — REEEL A 11.38 X 0.100 1.138 m3
(o7 U — MZEEIRT)

N Y 18N—8—40

a7 )—1 t=10cm 7. 350 m2

Sk RC—40 t=10cm 7. 350 m2




